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ecl-es-act(es;m;x)

=qet eclind(zx;k,test.Aeq,ea. False;a,b,aa,ab.Aey,es. aa(er,eq)
V Je€(eq,ea].ecl-es-halt(es;a)(0,e1,pred(e)) & ab(e,ea);a,b,aa,ab.Aeq,es. aaler,es)
& Vneecl-ex(b).Ve€ley,ez).mecl-es-halt(es;b) (n,eq,e)
V ab(ey,e2) & Vneecl-ex(a).Ve€ley,ea).mecl-es-halt(es;a)(n,e1,e);a,b,aa,ab. ey, e2.
aa(ey,e2) & VYne0.ecl-ex(b).Ve€ley,e2).—ecl-es-halt(es;b)(n,eq,e)
V ab(ey,e2) & Vnel.ecl-ex(a).Ve€ey,e2).mecl-es-halt(es;a) (n,eq,e);a,aa.Aeq,e2.
[e1;e2]~([x,y].ecl-es-halt(es;a)

Y)sa,m,aa.1f m=yn— ecl-es-halt(es;a)(0)
else aa fi;a,n,aa.00;a,l,0a.0a)

clarification:

ecl-es-act(es;m;x)
=4ef eclind(z;k,test.Aeq,ea. False;a,b,aa,ab.Aeq,es. aa(er,eq)
V existse-between3(es;eq;eq;e.ecl-es-halt(es;a)(0,eq,es-pred(es; €))
& ab(e,ea));a,b,aa,ab.Meq,ea. aaler,es)
& Vneecl-ex(b).alle-betweenl( es;eq;ez;e.mecl-es-halt(es;b) (n,eq,e))
V ab(ey,ez)
& Vneecl-ex(a).
alle-between1(es;eq;eq;e.mecl-es-halt(es;a)(n,eq,e));a,b,aa,ab.Aeq,ea. aa(er,es)
& VneOl.ecl-ex(b).alle-betweenl(es;eq;ea;e.mecl-es-halt(es;b) (n,e1,€))
V ab(er,e2)
& Vnel.ecl-ex(a).alle-betweenl(es;eq;eq;e.—ecl-es-halt(es;a)(n,eq,e));a,aa. ey, ea.
es-pstar-q(es;x,y.ecl-es-halt(es;a)
(0
\T
)ixyy.aa(z,y)serses);a,n,aa.if m=an— ecl-es-halt(es;a)(0)

else aa fija,n,aa.a0;a,l,0a.0a)
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